EARAROBEEIERT — 2 N— IBISH —F

201652A7H (B) 21E1AE2H

m?ﬂﬂ?ﬁﬁé‘ C1 #5%3K®kL \ (] 8 \ (il  — | 4 (£) 14000 BE
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: NPZ e DY) # 5 | WOR 1:(3_1).0 3332|395 — | 2 :3_152) %Eﬁ%ﬁ'ﬁ (E#)
BYSPAE = I =% D G e g Rk FHB
S S, i o4 | BERE 1:31.4 1-1-1-1 | 40.5| — 3 471 | KBEX (EB)
25|55 | ¥—t€7¥a> 56.0 @) (- |FibiEL
R:wyDEdyR B:FvyvTT7vT FIRX %Y K
5, it 6 | AR 1:31.8 4-5-4-4 | 39.9| — 5 468 |WTEX (£8)
3lglg| bUBTY— 54.0 @ (+5) | HAiHiBA .
L:T7LBAT4 977148 B:RUTIELT Y b H—L— - JvIN> - Ty7—LERS
N S0y s BHEIFE : 00— — BHEXE (£8)
4 6 HAL AT > 4 5 oG (12.312/.23) 2-2-2-3 | 41.2 1 (45; E$§_
:O-I>F0)> B:ANAY—%T 41 e
5 4| VLI FYT o4 ?f;ﬁ 1.&3).0 6-7-6-6 | 40.7| — 6 ;1:1;;) %E?ﬁ (=5)
R:T74=TxAh4 B:A—-TY—hriX=— INHINAT 7 — L
o0, =PI o DI :33. 67— . = AH—K (£H)
6 o |TTH—1xTx o4 52 (11313/23) 5-6-7-7 | 41.0 7 (4_929) L 7t:f
LR Y E—T B:2NY fiE  SERL
- . it o4 | RERZ 1:33.3 7-4-5-5 | 41.4| — 8 443 | HIES (£8)
71111 AZ—H IR 54.0 (7E) = EHEH -
Z:arFaay b BiYrI7AY R HET7—L
A i 4 | LIS 1:33.7 9-9-9-9 |40.6| — 9 465 | REAE (EB)
glz|7|P>~NTI 54.0 @ (-5) |RERES
RV TATI4L K B:73aby b 31— hETHS
glglg| vrEFTYY o4 suﬂ’(ea 1:(324).1 8-8-8-8 |41.4| — | 4 | 453 %E?ﬁ (=%)
RILNATA—H— BNCT—IUYHFARZR gy &
® I—F—@EBIERL
13—7F— 5,6,3,9,2,4,1,8,7
Ao=5"= 5,6,3,1,9,2,4,8,7
T =35r= 5,6,3,9,1,4,2,8,7
43—+ — 5,3,6,9,1,4,2,8,7
[ RN
B 3 440/ 794K 3-5 340M & 3-5 6604 &R 3-5-9 4,260
# B 3 130M 3-9 960F B E 3-5 1,020 EE Babpd 20,580
5 180M 5-9 1,080H B H 3-5 1,980
9 410M

ABICOVWTRDTEEERROODE. TR LIV,




